H@@ETU’)(T

2.000

B B
0400, [2+00, [4+00, [6+q0, [5-q0, [10400 [12400 [19+00 16400 [18+00 [20400 |2 400 [265+00 28400 [30400 [32400 [34400 [36400 [38+400 [40400 |42 [F3+400 [ 56400 [56+00 60400 [62400 [65400 [66400 [68+00 [70400 [72+00 [74+00 [7o400 0 [B0400 62400 [54400 [65400 [55+400 [20+00 [32400 | + |
<Superelevation staStart="0" staEnd="295.550450344305">
Wt reRriS S S B <FullSuperSta>0</FullSuperSta>
e . =<FullSuperelev>6</FullSuperelev=
HHSSATEERIRT | BN ERE HRSFER( A2 | <RunoffSta>295.550450344305 </RunoffSta=
— <AdverseSE>non-adverse < /AdverseSE>
L
W ARELTUDITETS </Superelevation>
BBl | duUoits SERlERE ] <Superelevation staStart="450.550450344305" staEnd="482.93603298302">
<FullSuperSta>450.550450344305 < /FullSuperSta>
= & q Hf &5 22 L L]q=
&F5 Ié%:_:‘_-‘ Bls :.:(f“%R E{F:ﬁ)ﬁ E?&?EE iz e J(-_r;):!jﬁ =T (Jmf;“jg <FullSuperelev>-4</FullSuperelev>
<RunoffSta=482.93603298302</RunoffSta>
- . . . . . . . =AdverseSE>non-adverse</AdverseSE>
1 1 0+00.000000  300.000 295.550450 [ 6.000000 . - - </Superelevation>
2 14+15.550450 | R—A—co  75.000000 - - [0 75.000000 75.000000 <Superelevation staStart="625.43603298302" staEnd="649.916193252348">
3 18+10.550450  co—A—R | $0.000000 - - O so.o00000 80.000000 <FullSuperSta>625.43603298302 < /FullSuperSta=
2 4 | 22+10.550450 -500.000 32.385583 [] 4.000000 7 - - <FullSuperelev>2</FullSuperelev:
B 24402.936033 R—h—oo | 80.000000 - - O so.onoono| go.noooon <RunoffSta>649.916193252348</Runoffsta>
§ | 28+02.986033 co—d4—R | B2.500000 - - O 6&2.500000  62.500000 ;S<Ad“TrSE§E>“°"'“d"ersed‘e‘d“'erSESE}
<fSuperelevation>
+05. oo, . . - - .
g ! 81405.436033  1,000.000  24.430160 [] 2.000000 ™ <Superelevation staStart="824.916193252348" staEnd="929.75094387478">
8 32+09.91619%  RB—A—co E2.500000 - - [0 &2.500000 E2.500000 <FullSuperSta>824.916193252348 < /FullSuperSta>
9 | 35+12.416193 co—4—R | 112.500000 - - O 112.500000  112.500000 <FullSuperelev>-6</FullSuperelev>
4 10 41404.916193 -200.000 | 104.234751 [ &.000000 e - - <RunoffSta=929.75094387478 </RunoffSta>
11 46+09.750944 R—A—co | 112.500000 - - [ 112.500000 112500000 <AdverseSE>non-adverse < /AdverseSE>
12 B2+02. 2580944 co—4—R E.000000 - - O 75.000000 7a.000000 <fSuperelevation>
5 13 E5+17.250944  300.000 169.753872 [] 6.000000 N _ _ <Superelevation staStart="1117.25094387478" staEnd="1287.01081619573">
14| B4407.010816 R—h—oo | 75.000000 - - O 75.000000  75.000000 <FullSuperSta>1117.25094387478</FullSuperSta>
=<FullSuperelev>6</FullSuperelev=
15 E8+02. 010816 4—R g0.000000 - - 40.000000 g0.000000
A O <RunoffSta>1287.01081619573</RunoffSta=
E 16 72402.010816 -320.000 | 243.116842 [ &.000000 e - - <AdverseSE>non-adverse</AdverseSE>
17| 84405.126858  R—d—sco | 80.000000 - - [0 se0.000000 80.000000 </Superelevation>
- - - - - - - - <Superelevation staStart="1442.01081619573" staEnd="1685.12665823213">
7 18 AaH0G. 126RER oo 102.281958 O z.oo0000 ™ - - <FullSuperSta>1442.01081619573 </FullSuperSta>

<FullSuperelev>=-6</FullSuperelev>
<RunoffSta=1685.12665823213 < /RunoffSta=
<StartofRunoutSta=1745.12665822213 < /StartofRunoutSta=
<EndofRunoutSta>1765.12665823213 </EndofRunoutSta=
<AdverseSE>adverse</AdverseSE>

- <Feature name="ReverseCrown">

<Property value="1725.12665823213" label="sta"/>
< fFeature>
</Superelevation>
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1[SingleLaneRoad FALSE 8 F—%
2|NormalCrown 2 @ R—E

= I RA L [ 2]
T H
BE Al E{;}Eﬁa‘@ﬁa (%)ELEJJ P F v I RER %
1 0+00. 000000 6.000000 | -6.000000 N C— <%
2 | 14+15.550450 6.000000 | -6.000000 N C—8D A%
3 | 18+10. 550450 1.161290 | -1.161290 N C8 £ —%
4 | 22+10.550450]  -4.000000 | 4.000000 / C D £
5 | 24+02.936033]  -4.000000 [ 4. 000000 / C—8 <%
6 | 28+02.936033] -0.631579 | 0.631579 / C—38D) A—#
7 | 31+05. 436033 2.000000 [ -2.000000 N C 8 %
8 | 32+09.916193 2.000000 | -2.000000 N D A —%
9 | 35+¢12.416193] -0.857143 | 0.857143 / 8 A%
10 | 41+04.916193]  -6.000000 | 6.000000 / C—8D- R —%
11 | 46+09.750944]  -6.000000 | 6.000000 / C—5D R—%
12 | 50+00.000000]  -1.504060 | 1.504060 / C—iD- R —%
13 | 52+02. 250944 1.200000 | -1.200000 N C—5D- F—%
14 | 55+17.250944 6. 000000 | -6.000000 N C—5D- R —%
15 | 64+07.010816 6.000000 | -6.000000 N C—3D- A—%
16 | 68+02.010816 0.193548 | -0.193548 N C—D- A —%
17 | 72+02.010816]  -6.000000 | 6.000000 / CB %
18 | 84+05.126658]  -6.000000 | 6.000000 / C—8 F—#
19 | 88+05.126658]  -2.000000 | -2.000000 [ .\ C—8) A%
20 | 93+07.408616]  -2.000000 [ -2.000000 [ .\ C—8 £—#%
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1= B
1BEIEE (1) EEIEE (5

MBSt E AT ) kb5 O ki gs
EERR(SmILEASH T —REER) (O —=Ei (@ BEER

Ma Blss | EmTERE | mEGE) | eS| mEkE) | WEEcE | 28I [ -
1 |NOD 0.0000 £.000 —5.000 M #8 P am ok A S0 A B DR &
2  |NO.14+155505 295 5505 £.000 —5.000 M REmi DK EOEE T
3 |NO22+105505 450 5505 —4.000 4.000 M #8 Pam ok S B B [ 00RA &
4 |NO24+29360 482 9360 —4.1000 4.000 S Mm R E MO T
5  |NO.31+54360 5254360 2 D00 —2.000 M EAms B BCE R O 22
6 |NO.32+39162 5499162 2 D00 —2.000 HEREA R BAREMOET
7 |NO41+431862 8249162 —6.000 6.000 HH £2 P ok ) B B R 00RA 22
8 |NO.46+27509 929.7509 —6.000 6.000 HErEsA R EREMOE T
9 |ND.55+17.2508 1117.25089 6.000 —6.000 B £8P am ok A 5 B BE A 0ORA £
10 [MOG4=70108 1287.0108 £.000 —5.000 H#EREA R DEEEEOE T
11 [MOT72+20108 1442 0108 —6.000 &.000 i #8 P am ok S0 A B DR &
12 |NO.B4=5.1267 1685.1267 —5.000 §.000 HERASRARDREMOE T ¥
13 |NOBE+5.1267 17251267 —2 000 2000

14 |NOBE+5.1267 17251267 —2 000 HEELEDEER

15 |NOBT+5.1267 17451267 HE Ao BESERR 0ETER
16 |MOB8+5.1267 1765.1267 —2 000 FREBRTIDITEMODET

17 |ND83+75074 1867.5074 —2.000

18




